



Pricing Proposal
Quotation #: 23092780
Reference #: EA 70314099
Created On: 2/14/2023
Valid Until: 2/28/2023

TX-City of Round Rock

Ramsey Saad

221 EAST MAIN STREET
Round Rock, Texas 78664
UNITED STATES
Phone: (512) 671-2768
Fax:
Email: rsaad@roundrocktexas.gov

Microsoft Inside Account Manager

Shaina Walker

290 Davidson Avenue
Somerset, NJ 08873
Phone: 732-868-6191
Fax:
Email: Shaina_Walker@shi.com

All Prices are in US Dollar (USD)

Product	Qty	Your Price	Total
1 M365 G5 FSA GCC Sub Per User Microsoft - Part#: AAL-48033 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	25	\$563.88	\$14,097.00
2 M365 G3 Unified FSA GCC Sub Per User Microsoft - Part#: AAD-34700 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	760	\$331.68	\$252,076.80
3 M365 G3 Unified FUSL GCC Sub Per User Microsoft - Part#: AAD-34704 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	90	\$388.80	\$34,992.00
4 Win G5 Step-up Win G3 GCC Microsoft - Part#: AAF-21855 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	850	\$54.96	\$46,716.00
5 Defender O365 P2 GCC Sub Per User Microsoft - Part#: GLN-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	850	\$46.20	\$39,270.00
6 M365 F3 Unified GCC Sub Per User	400	\$84.48	\$33,792.00

Microsoft - Part#: AAD-63092
Contract Name: Microsoft Software VAR
Contract #: DIR-TSO-4092
Coverage Term: 4/1/2023 – 3/31/2024
Note: Year 1 of 3

7	M365 F5 Security + Compliance GCC Sub Add-on Microsoft - Part#: 91C-00004 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	400	\$136.56	\$54,624.00
8	Exchange Online P1 GCC SU Exchange Online Kiosk Per User Microsoft - Part#: 3MS-00002 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	400	\$17.64	\$7,056.00
9	Exchange Online P1 GCC Sub Per User Microsoft - Part#: 3MS-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	10	\$37.32	\$373.20
10	Win Enterprise Device ALng SA Microsoft - Part#: KV3-00368 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	60	\$48.30	\$2,898.00
11	Azure prepayment - US Gov Microsoft - Part#: J5U-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	60	\$1,227.90	\$73,674.00
12	O365 Extra File Storage GCC Sub Add-on Extra Storage 1 GB Microsoft - Part#: M9T-00002 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	5000	\$2.95	\$14,750.00
13	Project P3 GCC Sub Per User Microsoft - Part#: 7MS-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	8	\$276.03	\$2,208.24
14	Project P5 GCC Sub Per User Microsoft - Part#: 7VX-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	2	\$505.89	\$1,011.78

15	SQL Server Standard Core ALng SA 2L Microsoft - Part#: 7NQ-00292 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	24	\$633.60	\$15,206.40
16	Teams AC with Dial Out US/CA GCC Sub Add-on Microsoft - Part#: NYH-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	1250	\$0.00	\$0.00
17	Teams Domestic Calling Plan GCC Sub Per User Microsoft - Part#: LM9-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	1	\$129.67	\$129.67
18	Teams Phone Standard GCC Sub Per User Microsoft - Part#: LK9-00003 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	500	\$73.48	\$36,740.00
19	Teams Shared Devices GCC Sub Per Device Microsoft - Part#: KXJ-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	50	\$73.67	\$3,683.50
20	Visio P2 GCC Sub Per User Microsoft - Part#: P3U-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	3	\$138.51	\$415.53
21	Visual Studio Ent MSDN ALng SA Microsoft - Part#: MX3-00117 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	1	\$1,053.54	\$1,053.54
22	Win Server DC Core ALng SA 2L Microsoft - Part#: 9EA-00278 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	84	\$124.43	\$10,452.12
23	Power Apps Per App GCC Sub 1 App or Portal Microsoft - Part#: J8S-00003 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	1	\$54.03	\$54.03

24	Power Apps Plan GCC Sub Per User Microsoft - Part#: SEL-00001 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3	1	\$216.11	\$216.11
25	Azure Monetary Commitment Provision Microsoft - Part#: AAA-35418 Contract Name: Microsoft Software VAR Contract #: DIR-TSO-4092 Coverage Term: 4/1/2023 – 3/31/2024 Note: Year 1 of 3 Billing Enrollment # 7492926	1	\$0.00	\$0.00
				Total \$645,489.92

Additional Comments

Please note, if Emergency Connectivity Funds (ECF) will be used to pay for all or part of this quote, please let us know as we will need to ensure compliance with the funding program.

Hardware items on this quote may be updated to reflect changes due to industry wide constraints and fluctuations.

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.